






  


   UAF/CT/3A05       


B.Com. (Acc. & Fin.) DEGREE EXAMINATION, NOVEMBER 2016.
II YEAR — III SEMESTER

Major Paper V — CORPORATE ACCOUNTING
Time : 3 hours
                                                                                                      Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. What is share forfeiture?

2. Kannan Ltd. Issued 40,000 shares of `10 each payable in full an application as per a private placement agreement. The company received application for 40,000 shares. Applications were accepted in full. Show journal entries in the books of kannan ltd.

3. Hari Ltd.purchased the business of Muthu Bros. for `54, 00,000 payable in fully paid shares of `100 each. What entries will be made in the books of Hari Ltd., if such issue is at par?

4. What do you understand by capital redemption?

5. Gold Ltd. Issued 1000 8% debentures of `100 each. Give appropriate journal entries in the books of the company. If the debentures were issued at par and redeemable at par.
6. Redeemable preference shares to be redeemed ` 4,00,000

Premium on redemption: 10%

Divisible profit available: `80, 000

Fresh issue of equity shares of `10 each is to be made at 25% premium.

From the above information. You are required to find out the minimum fresh issue of shares.

7. From the following particulars of Yamuna Ltd. Calculate the Managerial remuneration  assuming there are two whole terms directors; as a part time director and manager.

Net profit before provision for tax and managerial remuneration but after depreciation is 8,70,410, Depreciation provided in the books is `3,10,000, Depreciation allowable under schedule XIV is   ` 2,60,000.

8. A company pays interest on 20th June and 31st December on its 1, 00,000 15% debentures of `100 each; the books are closed on 31st march. How the relevant items appear in the company’s balance sheet.

9. Calculate the amount of goodwill on the basis of three years purchase of the Last five years average profits. The profits for the last year five years are; I year- ` 4,800; II year- ` 7,200; III year- `10,000; IV year- `3,000; V year- `5000. 

10. Total assets of a firm is ` 8,40,000. The liabilities of the firm is ` 4,40,000 Normal rate of return in this class of business is 12[image: image2.png]


%. The firm earned a profit of ` 64,000. Calculate good will if it is to be valued 2 years purchase of super profits.What is quorum of meeting?

11. What is meant by Alteration of share capital?

12. A company decides to convert its `10 equity share capital of `8,00,000 into stock. You are require to state the journal entry to be passed.
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Explain different kinds of shares.

14. Anusha Ltd. Issued 1,50,000 equity shares . the whole of the issue  was underwritten as follows, X- 50%; Y- 25%; Z- 25%, Applications for the 1,20,000 shares were received in all, out of which applications for 30,000 shares had the stamp of X , those for 15,000 shares that of Y and those for 30,000 shares of Z. the remaining applications for 45,000 does not bear any stamp. Determine the liability of the under writer.

15. Write a short note on Sinking fund Method.
16. Murali Fibre Ltd. has part of its share capital as 5,000 redeemable preference shares of `100 each. When the shares became due for redemption, the company decided that the whole amount will be redeemed out of a fresh issue of equal amount of equity shares of `10 each. Show the journal entries in the books of the company.

17. Moon rays Ltd. Issued 50,000 8% debentures of `10 each to the public at a discount of 4% to be paid `4 on application and the balance on allotment. Applications were received for 48,000 debentures. Allotment was made to all the applicants and the amount due were received promptly. Pass the journal entries to record the transactions and show how they appear in the balance sheet of the company. 

18. The silver ore Co. Ltd. Was formed on 1.4.2014 with an authorized capital of ` 6,00,000 in shares of `10 each of these 52,000 shares had been issued and subscribed but these were calls in arrears on 100 shares. From the following trial balance as on March 31, 2015. Prepare trading and profit & Loss account. 
	
	`
	
	`

	Cash at bank

Plant

Mines

Promotion expenses

Advertising

Cartage and Plant

Furniture and Buildings

Administrative expenses

Repairs to plant

Coal and Oil

Royalties paid

Railway track and wagons

Wages to  miners

Cash

Investment – shares of Tin mines

Brokerage on above

6% F.D. in syndicate Bank
	1,05,000

40,000

2,20,000

6,000

5,000

1,800

20,900

28,000

900

6,500

10,000

17,000

74,220

530

80,000

1,000

89,000
	Share capital

Sale of silver

Intrest on F.D. uptodec 31st
Dividend on Investments
	5,19,750

1,79,500

3,900

3,200

	
	7,06,350
	
	7,06,350


Adjustments:

(i) Depreciate plant and railways by 10%; furniture and buildings by 5%

(ii) Write off a third of the promotion expenses

(iii) Value of silver ore on March 31st 2015 is `15,000

(iv) The directors forfeited on Dec 20th 2014, 100 shares on which only `7.50 had been paid.

19. The profits of Thangam Ltd. For the last 5 years as follows: 2010- 15,000; 2011- 18,000;       2012- 22,000; 2013- 25,000; 2014- 27,000; Compute the value of goodwill of Thangam Ltd. On the basis of weighted average profit after assigning weights 1,2,3,4 and 5 serially to the profits.

SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions
20. Asha Ltd. Issued for public subscription 20,00 equity shares of rs.10 each at a premium of `2 per share payable as under;

On application- `2; on allotment- `5; on first call- `2; on second and final call- `3. Applications were received for 30,000 shares. Allotment was made on pro-rata basis to the applicants of 24,000 shares, the remaining applications were rejected. Money over paid on application was utilized towards sums due on allotment.

Ramesh to whom 800 shares were allotted, failed to pay allotment and calls money and Suresh to whom 1,000 shares were allotted failed to pay the two calls .these shares were subsequently forfeited after the second call was made. All the forfeited shares were sold to Gokul as fully paid up at `8 per share. Pass the journal entries in the books of   Asha Ltd. 

21. Moon and star &Co. Ltd., is a company with an authorized capital of ` 5,00,000 divided into 5,000 equity shares of `100 each on 31.12.2014 of which 2,500 shares were fully called up. The following are the balances extracted from the ledger as on 31.12.2014.

Trial Balance of Moon and Star &co. Ltd.
	Debit
	`
	Credit
	`

	Opening stock

Purchases

Wages

Discount allowed

Insurance (up to 31.03.2015)

Salaries

Rent

General expenses

Printing

Advertsiements

Bonus

Debtors

Plant

Furniture

Bank

Bad  debts

Calls- in- arrears
	50,000

2,00,000

70,000

4,200

6,720

18,500

6,000

8,950

2,400

3,800

10,500

38,700

1,80,500

17,100

34,700

3,200

5,000
	Sales

Discount received

Profit & Loss A/C

Creditors

Reserves

Loan from managing director

Share capital
	3,25,000

3,150

6,220

35,200

25,000

15,700

2,50,000

	
	6,60,270
	
	6,60,270


You are required to prepare profit & loss A/c for the year ended 31.12.2014 and a balance sheet as on that date with following adjustments

(i) Closing stock was valued at `1,91,500

(ii) Depreciation on plant at 15% and on furniture at 10% should be provided.

(iii) A tax provision of ` 8,000/- is considered necessary

(iv) The directors declared an interim dividend on 15.08.2014 for 6 months ending June 30th 2014 @ 6%. 

22. From the following information calculate the value of goodwill on the basis of three years purchase of the super profit.
(i) Average capital employed in the business `7,00,000.

(ii) Net trading profit of the firm for the past three years `1,07,600; `90,700 and `1,12,500.

(iii) Rate of interest expected from capital having regard to the risk involved 12%.
(iv) Fair remuneration to the partner for their services `12,000 per annum.

(v) Sundry assets of the firm – `7,54,762,

(vi) Sundry liabilities of the firm – `31,329.
23. Sick Ltd. had the following balance sheet as on 31.3.2007.

	Liabilities
	`
	Assets
	`

	6% preference share of `100 each
Equity shares of `100 each
Debentures

Sundry Creditors
	2,00,000
4,00,000

1,00,000

1,50,000
	Goodwill
Fixed Assets

Stock

Debtors

Discount on debentures

Bank

P & L A/c
	60,000
3,00,000

1,50,000

60,000

10,000

1,000

2,69,000


	
	8,50,000
	
	8,50,000


The following reconstruction scheme was approved:
(a) Preference shares be reduced to 8% preference shares of `60 each.

(b) Equity shares to be reduced by `80 each.

(c) The amount thus made available to be utilized to write off fictitious assets.
Give entries for the reconstruction and the final balance sheet.
__________
[P.T.O.]





[P.T.O.]
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